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𝒇(𝒙)
𝒅𝒙 = 𝒍𝒏|𝒇(𝒙)| + 𝒄 

 

𝒚 = 𝒇(𝒕),  𝒙 = 𝒈(𝒕), 𝒆𝒈. ∫ 𝒚 𝒅𝒙
𝟗

𝟎
,   𝒙 =  𝒕𝟐,  𝒚 = 𝟐𝒕(𝟑 − 𝒕) 
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𝒇ᇱ(𝒙)

𝒇(𝒙)
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∫ 𝒇ᇱ(𝒙)[𝒇(𝒙)]𝒏𝒅𝒙 = 
[௙(௫)]೙శభ

௡ାଵ
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𝒂𝒙ା𝒃
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න 𝑓(𝑥)𝑔(𝑥) 𝑑𝑥

න 𝑢
𝑑𝑣

𝑑𝑥
𝑑𝑥

= 𝑢𝑣 −  න 𝑣
𝑑𝑢

𝑑𝑥
𝑑𝑥

 

𝑑𝑦

𝑑𝑥
= 𝑓(𝑥)𝑔(𝑦)

 

𝑑𝑦

𝑑𝑥
= 𝑓(𝑥)𝑔(𝑦) ⇒ න
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𝑔(𝑦)
𝑑𝑦

= න 𝑓(𝑥)𝑑𝑥
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𝑢𝑠𝑒 ∫ 𝑦 𝑑𝑥 =  ∫ 𝑦 
ௗ௫

ௗ௧
 𝑑𝑡  𝑎𝑛𝑑 𝑐ℎ𝑎𝑛𝑔𝑒 𝑡ℎ𝑒 𝑙𝑖𝑚𝑖𝑡𝑠   


